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s covered by eamed revenue [non-grant revenue).
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e number of months of expenses that can be covered by
:‘an- fions and pledge assets haove been removed.

LFl = [total net assets - restricted net assets - pledged assets - fixed assets)/ Avg Monthly Expenses




Revenue Ratios

Revenue ratio helps determine how diversified your revenue streams are.

3 Year Avg Revenue Diversification

B Public contributions

B Government grants

&

B Program service revenues

E72

B Dividends and interest

B Rental Income

B Other
by Fri1s Change Frilg Change Fri7 3 year Avg
Revenue Ratios
Public contributions &% 62% 21% 52% 33% 21%
Gowvernment grants 3B% -43% 21% 39% 0% 9%
Frogram service revenueas 16% 36% g 21% -20% 17% 18%
Dividend: and interast 13% 4% 18% -37% 1% 14%
Rental Income ':}95: #DIW/ 0! r 0% #DIW/0! 0% 0%

Other
Total Revenue

10%
12,779,419

18%
9,412,318
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The equity ratio measures the proportion of fotal assets that are financed by equity
{netincome/grants), as opposed fto creditors (debt].
A higher percentage = more flexibility and capacity and less vulnerability

Equity Ratio = assets - liabilities / total assets

/
e

//

Ff 15 Change K16 Change H 17
Equity Ratio 44% AT 44% 12% 51%




P organization to add to its net assets. Values greater than one indicate an increase in .
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savings. The savings indicatoris a simple way to determine if an organization is '
adding to or using vp its net asset base.

savings indicator = [revenue - expense) / total expense

Savings Indicator

Fr15 Change F1é ) Fr17
Savings Indicator  0.18142 4% 0.14284 /7% 0.91299




Return on assets shows the percentage of profit a company eamns in relation to its overall
) resources. [t gives you an idea as fo how efficient a company’s management is at using its assets &
fo generate earnings. Higher % = Higher efficiency ‘

Eeturn on assets = 100% x (total revenue - total expenses) / total assets

Return on Asseis

Fr 15 Change F 14
Eeturn on Assets 2.42% -l?f'é' 1.58%




ortion of assets provided by debt. High values
indicate future liquidity problems or reduced capacity for future borrowing.

debt ratio = average total debt / average total assets

Debt Ratio

Debt Ratio

Ff 15 Change F 14 Change

. r r]
Cebt Ratio 45% -2% 43% -46%
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